





 $\begin{array}{c} x_{1} & x_{2} & x_{3} & x_{4} & x_{5} &$ 

)  $\mathbf{t}(\mathbf{x}) = \mathbf{p}$   $\mathbf{x}_{3}^{2} + \mathbf{x}_{3}^{2} + \mathbf{z}$   $\mathbf{x}_{3}^{2} + \mathbf{x}_{3}^{2} + \mathbf{z}$   $\mathbf{x}_{3}^{2} + \mathbf{x}_{3}^{2} + \mathbf{z}$   $\mathbf{x}_{3}^{2} + \mathbf{z}^{2} + \mathbf{z}$ I I ļļ ►; t ь; . . . . 1 ¥ \*3 1 I. ►,' 1 . ^;. ъ.; 1 . \* 3 . . · 1 1 F(x, x) = p f(x, y) = (x, y) $F(\mathbf{x}, \mathbf{y}) = \mathbf{y} = \mathbf{y} = \mathbf{y}$   $F(\mathbf{x}, \mathbf{y}) = \mathbf{y} = \mathbf{y}$   $F(\mathbf{x}, \mathbf{y}) = \mathbf{y} = \mathbf{y}$   $F(\mathbf{x}, \mathbf{y}) = \mathbf{y}$   $F(\mathbf{x}, \mathbf{y}) = \mathbf{y}$   $F(\mathbf{x}, \mathbf{y}) = \mathbf{y}$ v ~; • 11 ·

 $\frac{1}{2} \cdot \frac{1}{1} \cdot \frac{1}{1} \cdot \frac{1}{2} \cdot \frac{1}$ 

)  $\mathbf{t}(x) = \sum_{\mathbf{x}} \sum_{\mathbf{p}} \frac{\mathbf{t} \cdot \mathbf{t}}{|\mathbf{t}|} \mathbf{t} = \sum_{\mathbf{x}} \sum_{\mathbf{p}} \frac{\mathbf{t} \cdot \mathbf{t}}{|\mathbf{t}|} \mathbf{t} = \sum_{\mathbf{p}} \sum_{\mathbf{p}} \frac{\mathbf{t} \cdot \mathbf{t}}{|} \mathbf{$ 

- - ¥. .

## 

×. .

%) ··· t

 $\begin{array}{c} (1 + 1) \\ (1 + 1)$ 

 $\begin{array}{c} \sum_{i=1}^{N_{1}} 1 & \sum_{i=1}^{N_{1}} 1 & \sum_{i=1}^{N_{1}} 1 & \sum_{i=1}^{N_{2}} 2 & \sum_{i=1}^{N_{2}} 1 & \sum_{i=1}^{N_{2}} 2 & \sum_{i=1}^{N_{2}} 1 & \sum_{i=1}^{N_{2}} 2 & \sum_{i=1}^{N_{2}} 2$ 



 $\mathbf{1} \xrightarrow{\mathbf{1}} \underbrace{\mathbf{3}} \underbrace{\mathbf{3}}$  $\begin{array}{c} & & & & & \\ & & & & \\ & & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\$